
① Calculate gcd (356,
104)

3

10456
356 = 3 . 104 + 44 12

104 = 2 : 44 + 16
=

4

44 = 2. 16 + 12 2

16 = 1 . 12 +

& 441
12 = 3 . 4 + 0

(336,
104) = 4

10
32
=

12



② Yes there are solutions since ged (100 , 261 = 2

from the calculations given .

We have

22 = 100 - 3 . 26C4 = 26 - 22

2 = 22 - 5.4

2 = 22 - 5 . 4

= (100
- 3 . 261 = 5 . (26 - 22)

= 100 - 8 - 26 + 5 . 22

= 100 - 8 - 26 + 5(100 - 3 - 26)

= 6. 100 - 23 . 26

xt16y= 2 where Xo,

-

XA⑮



③ (a) y cd (12 ,
8) = 4

and 4X14

Thus
,

12x + Sy = 14 has no integer solutions

-

③(b)
Since all we

know all= b for some hez.

Thus ,
(ak)= b2.

so,
a (h) = b 2.

Thus ,
allb".

-



① See Hw2-#9

⑪ See HW1-#8



⑤
Since X = ged(a , b) we know xla and xlb .

So
, a = xk,

b = X & where R
,
MEX.

Thus,
a + b = x(k+ 1)

so x ((n +b) divisor of a and atb .

So,
X is a positive common

Since y
= ged (a ,

a + b) ,
this implies X*Y .

#

-
⑤
Assume ged(a ,

b) = 1 and cla.

Then a = ch where REI.

Let d = gcd(b ,
c)

Then ,
da O

,
Alb ,

and dk.

So,
c = de where

le

so,
a = ck = dlk.

so,
da

Sincedla and dlb and dao

we
know d= I because gedla ,

bl = 1.

Thus ,
gcd(b,

c)= 1
. ⑪


